Practice
Graphing: Equation of a Circle

Answer these problems, then check your answers using the key on the next page. If you missed
something, look at the solutions after the answer key, and if you still don’t understand, watch the review
video again.

#DH It (x - 3)2 + ( ¥+ 5)2 =9 is the equation of a circle, the coordinates of the center and the length of the

radius are:
a) center (-3, 5), radius=9
b) center (-3, 5); radius =3
¢) center (3, -5), radius=9
d) center (3, -5), radius =3

#2) Find the center and radius of this circle: (x +10)" +(p+ 5)2 =16

#3) What is the equation of a circle with center at (-2, 7) and radius = 9?

#4) What is the equation of a circle with center at (0, -5) and radius = 4?

#5) What is the equation of a circle with center at (2, 0) and radius = 47

#6) What is the equation of a circle with center at (0, 0) and radius = 4?7

#7) What is the equation of a circle with center at (3, -4) and radius =77



#8) Graph these circles:

(x—2)2+(y+3)2=36 x2+(y~3)2:4 xP 4y’ =12




Answers:
#1) d

#2) center: {-10,-5)
Radius = 4

#3) (x+2) +(y-7) =81
#4) x*+(y+5) =16

#5) (x—2) +y* =16

#6) x'+y? =16

#7) (x=3) +(y+4) =7

#8) (x-2) +(y+3) =36
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Solutions: - et
mun ( @ + @ =9 is the equation of a circle, the coordinales of the center and the length of the

radius are: _ (‘M—lef (31_5_,)

a) center (-3, 5), radius =
b)Y center (-3, 5), radius = 3 =23
¢) center (3, -5), radius=9

Lgfii cenler (3, -9), radius =17

#12) Find the center and radius of this circle: (.\'@)2 +(»E3Y =16

#3) What is the equation of circle with centey (-2, 7} and radius = 9?

l(m—z} +l ""*) J

ey, U £ AT Ut

fi4) What is the equation of a circle with center at (0, -5) and radius = 4?
7 2.
(oY 4 {y5)'= 14
[‘ X=4 (fj X SLY/A

1#5) What is (he equation of a circle with center al (2, 0) and radius = 47?
(X—?.) + (y “0) s /4
/w(x ‘Lu /Jé.
1#16) What is the equation of a circle with center at (0, 0) and radius = 4?
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#7) What is the equation of a circle with center at (3, -4) and radius = J79
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#8) Graph these circles:

(x—2) +(y+3) =36 W a(p=3) =4
Cenket (2,~7) cewler: (0,2)
r=b VAt

Ny’ =12
leate ! (O0)
v=rz (x3y)
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